Probability and Statistics

Test: Date: 03/21/2014

1. The collection, organization, summarization, and representation of data is called:

a. Inferential statistics

c. probability


b. A population


d. descriptive statistics

2. What are the measurements or observations for a variable called?

a. Random variables

c. A sample

b. Data



d. A population

3. Which of the following is an area of inferential statistics?

a. Collecting data

c. Generalizing from samples to populations

b. Organizing data

d. Generalizing from populations to samples

4. The number of pounds of garbage generated by people in Great Britain would be an example of what type of variable?

a. Discrete


c. Qualitative

b. Continuous


d. Homogeneous

5. A person’s hair color would be an example of what type of data?

a. Discrete


c. Qualitative

b. Continuous


d. Homogeneous

6. A variable that can be placed into distinct categories, according to some characteristic but that cannot be ranked is called a:

a. Continuous variable

c. Discrete variable

b. Qualitative variable

d. Homogenous variable

7. What is the level of measurement which consists of classifying data into mutually exclusive categories in which no order or ranking can be imposed?

a. Nominal level


c. Interval Level

b. Ordinal level


d. ratio level

8. The salaries of auto workers would be an example of what type of data?

a. Nominal level


c. Interval level

b. Ordinal level


d. Ratio level

9. A person’s religious affiliation would be an example of what type of data?

a. Nominal level


c. Interval level

b. Ordinal level


d. Ratio level

Frequency Distributions and Graphs

10. Which of the following should not be done when constructing a frequency distribution?

a. Select the number of classes desired

b. Find the range

c. Use classes that are unequal in width

d. Use classes that are mutually exclusive

11. What is the midpoint of the class 40 – 80?

a. 40

b. 60

c. 80

d. 45

12. When constructing a frequency distribution, how many classes should there be?

a. Between 8 and 12

c. Between 5 and 20

b. Between 2 and 5

d. Between 15 and 20

13. In the frequency distribution, two classes are 40 – 46 and 47 – 53. What is the class width?

a. 6

b. 8

c. 7

d. 5

14. In the class 20 – 28, what is the lower class limit?

a. 20

b. 19

c. 19.5

d. 20.5

15. Using the class 37 – 45, what is the upper class boundary?

a. 45

b. 45.5

c. 44.5

d. 46

16. Karla wants to construct a frequency distribution for the religious affiliation of the employees at Brown’s department Store. What type of distribution will be used?

a. Ungrouped


c. Categorical


b. Grouped


d. Cumulative

17. What is another name for a cumulative frequency graph?

a. Bar graph


c. Frequency polygon

b. Pictograph


d. Ogive

18. The following frequency distribution was obtained.

Class boundaries
    
Frequencies

    

17.5 – 22.5


5

    
22.5 – 27.5


7

     

27.5 – 32.5


10

     

32.5 – 37.5


12

     

37.5 – 42.5


13


How many pieces of data were less than 37.5?

19. 
A. 12

B. 13

C. 22
The meteorological records the temperature in Fairbanks, Alaska during each day. What type of graph would be used?

a. Time series graph

c. Pie graph

b. Pictograph


d. Ogive

20. Jimmy is constructing a pie graph to represent the number of g hours his classmates watch television each day. He found that 11/30 watched 2 hours a day. In his pie graph this would represent how many degrees?

a. 12

b. 132

c. 23

d. 150

21. In the pie chart, if pepperoni pizza was 15/60 of the distribution, how many degrees would be needed for pepperoni?

a.  900

b. 1200

c. 600

d. 1500
22. An automobile dealer wants to construct a pie graph to represent the different types of cars sold on October. He sold 90 cars, and 20 of the cars were convertibles. The convertibles will represent how many degrees in the circle?

a.  900

b. 1000

c. 600

d. 800
23. Find the range of the data in the stem-and-leaf plot.
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	a.
	46

	b.
	74

	c.
	75

	d.
	45


24. The following data was reported on weekly salaries:

Salary

     Frequency

  300


4

  350


5

  400


8

  450


10

  500


9

  550


12


What is the mean of this distribution?

a. 453.2

b. 362.5
c. 425.0
d. 435.8

25. The following data was reported on weekly salaries:

Salary

     Frequency

  

  300


4

  

  350


5

  

  400


8

  

  450


10

  

  500


9

  

  550


12


What is the mode?

a. 12

b. 550

c. 450

d. 500

26. What is the weighted mean of the cost of tennis shoes?

Shoe

Number Purchased
            Price

  

    1


8


$35

  

    2


10


$45

  

    3


14


$25

  

    4


6


$55

a. $40

b. $37.11

c. $38.27

d. $39.27

27. Using the data set 17, 25, 30, 27, 16, 19, 35, 42, 18, 20, 19, and 13, what value corresponds to the 31st percentile?

a. 18

b. 27

c. 17

d. 30

28. What is the variance of the given data? 18, 25, 32, 16, 19, 40, 50, and 60

a. 17.3

b. 16.2

c. 262.9
d. 260.1

29. A distribution has mean of 200 and a standard deviation of 30. For a value of 245, what is the z-score?

a. 1.50

b. 1.20

c. – 1.50
d. 2.50

30. What is the interquartile range for the following data? 4, 5, 7, 8, 9, 10

a. 5

b. 9

c. 4

d. 6

31. Using the data set of: 10, 12, 13, 15, 18, 20, 25, 27, 32, 36, 39, and 40. If you draw a box-plot for this data what is the length of the box?

a. 20

b. 19

c. 21

d. 18

32. Using the following set of data: 60, 52, 48, 32, 62, 45, 48, 52, 60, and 48, what is the midrange?

a. 47

b. 48

c. 52

d. 49

33. Which of the following percentiles does not corresponds to the median?

       a. P50

b. Q2

c. D5

d. Q3

